
1/4 Nylon Washer
(11)

"A" WINDOW SHADE TOP (1)
"C

" W
IN

DOW SHADE

RIG
HT END (1

)

"B
" W

IN
DOW SHADE

LEFT END (1
)

1/4-20 x .750
Screw (6)

1/4-20 x .375
Screw (5)

----------BILL OF MATERIALS----------

HARDWARE

*THERE WILL BE LEFT OVER HARDWARE*

TOOLS REQUIRED (NOT INCLUDED)
(1) Drill
(1) 5/16" Drill Bit
(1) Phillips Head Screw Driver
(1) Tape Measure
Masking Tape
(Optional)
Tube of Black Silicone Caulk with
Caulking Gun

READ THESE INSTRUCTIONS IN THEIR ENTIRETY PRIOR TO ASSEMBLING THIS PRODUCT 

REDNECK WINDOW SHADE ASSEMBLY INSTRUCTIONS

WARNING! Do not remove, modify and/or omit any portion or otherwise mechanically 
modify this product(s) or its assemblies in any manner. Modification, misuse and/or 
part substitution shall immediately void your factory warranty. If you suspect that a 
part(s) is missing and/or defective, immediately discontinue all use of the product and 
contact Redneck Outdoor Products at 877-523-9986 for replacement of missing or 
defective parts.   

NOTE: Some parts of this product are manufactured to be universal in use, so there 
may be some parts containing holes that will not be used in the assembly of this 
particular model. To minimize confusion in the assembly process, please read these 
instructions in their entirety before beginning.  

Should you have any questions about the assembly, installation or use of this product, 
or any other Redneck Outdoor Products, please call one of our customer service 
representatives toll free at 877-523-9986.  

-1-



PART "A"
39" TOP / 28" TOP

Figure 10.1

1/4-20 x .375" SCREW

1/4" NYLON WASHER

Figure 10.2

Figure 11.1

12"
28" Window Shades

12"
28" Window Shades

17.5"
39" Window Shades

17.5"
39" Window Shades

Center Hole
Location "AA"

Holes for 28"
Window Shade "BB"

Holes for 39"
Window Shade "CC"

Holes for 28"
Window Shade "BB"

Holes for 39"
Window Shade "CC"

Figure 11.3

Figure 11.2

Strip of masking tape marked
for drilling holes. 

STEP 1: Remove all parts from the packaging and familiarize yourself with them. Find the bill of material list 
located on the second page of this manual and verify that all parts are present.  
STEP 2: Take part "A" Window Shade Top and attach it to the Window Shade Ends, parts "B" & "C", see Figure 
10.1. In (4) places secure the top to the ends with a 1/4-20x.375" screw and nylon washer, and tighten with a 
screw driver. Make sure the Ends "B" & "C" are flush with the outside edge of the Window Top "A". To make 
sure to not over tighten the hardware, it is best to use a hand screw driver instead of and impact or drill. Repeat 
this step for all the shades in your kit until complete. Whether the top is for a 39" or 28" window, the tops and 
sides will attach the same.   

NOTE: These next steps may be easier if you remove the glass window. You can do this by loosening the 2 set 
screws on each hinge and carefully lowering the window out of the hinges. In order to prevent the glass from 
falling, it may be easier to have a second person hold onto the glass while you loosen the screws.  
Step 3: Place a strip of masking tape along the top of the window gasket on the inside of the blind, as seen in 
Figure 11.2. Measure to find the center location in between the hinges and mark it on the tape. Make sure that 
the mark is also vertically centered in between the foam and the rib in the blind, as shown in figure 11.2. If the 
shade is installed too high, then it will rest against the rib on the outside of the blind and not sit flush against  
the outside of the blind. Once the center point is found, measure to the center of the outside holes, and mark 
them. See figure 11.3 for drilling locations. Holes "BB" will be drilled for 28" window shades & Holes "CC" will be 
drilled for 39" window shades. Its good to also measure each window shade just to double check the hole 
locations before drilling. Once holes are measured and marked, drill the (3) holes you will need using a 5/16" 
drill bit.      

-2-



Figure 12.1
OUTSIDE

(Optional)
Applying silicone caulk to the
back flange on the shade will
help make sure all cracks are
sealed. 

Figure 12.2
INSIDE

1/4" NYLON WASHER

1/4-20 x .75" SCREW

Figure 12.3

Figure 13.1

Mark the center of the threaded hole with a pencil. 

Figure 13.2

Figure 13.3

Push the side out of the way
to drill the hole in the panel. 

STEP 4: With the holes drilled, you can remove the tape off the inside of the blind; this is where a second person  
will make installation easier if the blind is already installed. If your blind is on the stand already, then slide the 
shade out of the window opening, and line the center hole up with the center hole in the blind. Having someone 
else hold the shade from inside the blind or the outside of the blind helps this go smoother. Once the center 
hole is lined up, then secure the shade to the panel as shown in figure 12.3. Leave the first screw a little loose so 
you can position the shade to fit the other two screws into place. Once you get all (3) screws in the top of the 
shade, tighten them down using a screw driver.        

STEP 5: With the top of the shade secured in place, take a pencil and mark the center of the threaded hole on 
the right & left side ends from the outside of the blind, as shown in figure 13.2.  Once the hole is marked, push 
the ends out of the way slightly so you can drill the hole as seen in Figure 13.3.  Once the hole is drilled on both 
sides, secure the sides with the hardware shown in figure 12.3, shown above.         

-3-



STEP 6: Repeat the previous steps for all the windows. Measure & compare all window shades to your 
windows to insure that you have the correct window shade for each window. Once all the window shades are 
installed, put all the glass back into the windows and make sure they are all secured. 

-4-


	Sheet1
	Drawing View56
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View127
	Drawing View128

	Sheet2
	Drawing View129
	Detail View AM (1 : 5)
	Drawing View131
	Drawing View132
	Detail View AN (1 : 7)

	Sheet3
	Drawing View136
	Drawing View139
	Detail View AO (1 : 3)
	Drawing View141
	Detail View AP (1 : 2)
	Detail View AQ (1 : 1.5)

	Sheet4
	Drawing View152




